
1

2

3

4

5

6

7

8

9

10

11

12

13

14

TAWI
Box 10205 434 23 KUNGSBACKA Sweden

Tel +46 300 185 00
info@tawi.se

www.TAWI.com

          Sugfot 20820
Nr Universalled 20820 A

n
ta

l

Art.nr

1 Fästplatta, övre & undre 3 20820A

2 Gummilist 1 10092

3 Plåtram 1 20093

4 Skruv M6X25 4 *

5 Förmonterbricka 4 *

6 Mutter M6 4 *

7 Skruv M8X20 4 *

8 Gaffellänk M8X32 m ES-bult 8 10822

9 Förbindningsbygel 1 10820B

10 Distansbricka 8 10824

11 Fästplatta, övre & undre 1 *

12 Popnit M6 4 *

13 PUR40, l=110mm 1 10821

14 Slangklämma 38-50mm 2 30117


